
Year 3 Maths – Lesson One LO – To add 3 digit numbers.

H T U

3 7 7

+ 4 1 5

7 9 2

1

7 ones plus 5 
ones, equal 12 

ones.

Exchange 10 
ones for a 10 

rod.

STEP ONE

STEP TWO

Total how many 10’s you 
have.  Make sure you 
include the 10 ones you 
exchanged in STEP ONE.

STEP THREE
Total how many 
hundreds you 

have altogether.

377 + 415 = 792

Use the column method we 
have been using in our 

lessons.



Now you have a try, complete as many as you can in 25 minutes.  Set out your 
calculations just like the example on the previous slide.
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